
Motor | chassis | service       eXceLLeNce iN Pc Parts

iMPortaNt Note!
Please check correct function of each auxiliary drive 
component and replace it if necessary.

Please refer to our catalogues for detailed,
up-to-date vehicle information.

Note the specifications of the vehicle manufacturer!

New teNsioNer pulley kit/ 
set with eNgiNe mouNt for 
Chevrolet/opel/vauxhall  
1.7-l diesel eNgiNes
techNicaL iNfo No. 1043

vehicLe MaNufacturer/ModeLs:

chevrolet Astra, Corsa

opel Astra G, Combo, Corsa B, Corsa C, Meriva

vauxhall Astra Mk IV, Combo, Corsa Mk II, Meriva

aPPLies to eNGiNes:

1.7 Di, 1.7 DTi, 1.7 CDTi

aPPLies to Part No.:

ruviLLe-No.  

5538370 Kit

5538350 Set

The vehicle manufacturers named above intend 
to complete a product replacement when the 
tensioner pulley is replaced.
The existing tensioner pulley with part number 
55316 will be replaced by the tensioner pulley with 
part number 55383 (see Image 1).

As part of this conversion, models up to engine 
number 328704 must be fitted with a new engine 
mount (see Image 2, Item 8). 

For this reason, RUVILLE provides the tensi-
oner pulley kit 5538370 and tensioner pulley 
set 5538350 for the conversion process. Both  
products include a new engine mount. 

From engine number 328705, the engine mount 
(OE No. 684051) is already fitted. Tensioner  
pulley kit 5538371 and tensioner pulley set 
5538351 are offered without engine mount for 
vehicles manufactured from this point. 

Key to image 2:       *) not available separately.
(1) Tensioner pulley 55383
(2) Deflection pulley 55368
(3) Timing belt 555314*
(4) Bolt M10x45 mm*
(5) Bolt M12x45 mm*
(6) Pins M8x33 mm*
(7) Bolt M6x16 mm*
(8) Engine mount*

egoN voN ruville gmbh • Billbrookdeich 112 • 22113 hamburg • germany • tel.: +49 (0)40 73344 - 0 • fax: +49 (0)40 73344 - 199 • info@ruville.de • www.ruville.de

image 2: Package contents: 
 5538370

image 1: Replaced tensioner pulley
 55316 (1) and its  
 successor 55383 (2)

iNforMatioN
The corresponding spare parts can be found in our online catalogue at 
www.ruville.de. Any reference to replacement part numbers for vehicle 
manufacturers is for comparison purposes only. 

10
43

/0
.1

/0
9.

20
11

/P
D

F-
G

B
   

   
   

 S
ub

je
ct

 to
 c

ha
ng

e.
 C

op
yr

ig
ht

 ©
 2

01
1 

E
G

O
N

 V
O

N
 R

U
V

IL
LE

 G
m

bH


